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Q.1. Read the passage given below.
Is using social media making our kids unhappy? Evidence is mounting that there is a link

between social media and depression. In several recent studies, teenage and young adult users
who spend the most time on Instagram, Facebook and other platforms were shown to have a
substantially (from 13 to 66 percent) higher rate of reported depression than those who spent
the least time.

Does that mean that Instagram and Facebook are actually causing depression? These studies
show a correlation, not causation. But it’s worth a serious look at how social media could be
affecting teenagers and young adults negatively. One reason the correlation seems more than
coincidental is that an increase in depression occurred in tandem with the_rise in smartphone
use.

A 2017 study of over half a million eighth through 12th graders found that the number
exhibiting high levels of depressive symptoms increased by 33 percent between 2010 and
2015. In the same period, the suicide rate for girls in that age group increased by 65 percent.

Smartphones were introduced in 2007, and by 2015 fully 92 percent of teens and young
adults owned a smartphone. Over that same time period there was a sharp spike in reports of
students seeking help at college and university counselling centres, principally for depression
and anxiety. Visits jumped 30 percent between 2010 and 2015



https://childmind.org/topics/concerns/depression/
http://journals.sagepub.com/doi/full/10.1177/2167702617723376
https://www.ncbi.nlm.nih.gov/pubmed/26783723
https://childmind.org/article/how-using-social-media-affects-teenagers/
https://childmind.org/article/how-using-social-media-affects-teenagers/
https://childmind.org/report/2017-childrens-mental-health-report/smartphones-social-media/
https://childmind.org/report/2017-childrens-mental-health-report/smartphones-social-media/
http://journals.sagepub.com/doi/full/10.1177/2167702617723376
https://childmind.org/topics/concerns/suicide-and-self-harm/
https://childmind.org/report/2017-childrens-mental-health-report/smartphones-social-media/
https://childmind.org/report/2017-childrens-mental-health-report/smartphones-social-media/
https://sites.psu.edu/ccmh/files/2017/10/2015_CCMH_Report_1-18-2015-yq3vik.pdf
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Shawn Kernes, CEO of LARKR

One of the biggest differences in the lives of current teenagers and young adults, compared to
earlier generations, is that they spend much less time connecting with their peers in person
and more time connecting electronically, principally through social media.

Some experts see the rise in depression as evidence that the connections social media users
form electronically are less emotionally satisfying, leaving them feeling socially isolated.

“The less you are connected with human beings in a deep, empathic way, the less you’re
really getting the benefits of a social interaction,” points out Alexandra Hamlet, a clinical
psychologist at the Child Mind Institute. “The more superficial it is, the less likely it’s going
to cause you to feel connected, which is something we all need.”

Based on the analysis of the given passage and visual, answer the following questions:

1. 81% of parents believe that children are more susceptible to mental health problems due to
social media. Why do you think they believe so?

a. Social media spreads rumours, makes embarrassing comments, damages reputation, emits
negative values and makes personal information public.

b. Social media is interesting, free, liberal, full of entertainment and children spent more
hours with social media.

c. Their children spent less time with them and more time on internet.



d. visits to counselling centres have increased by 30%.

2. Rahul's medical report says that his brain size has reduced by 15.5%. This is an
indicative of the fact that

a he suffers from anxiety and depression . b. he lives in isolation.

c. he is an addict to the internet. d. his memory has reduced by 15.5%.

3. Has social media addiction reduced the importance of print media?

a. Yes, people spend more time in front of the screen than in front of the print media.

b. No, newspaper and other print media have shown increase in circulation and readership.
c. The ratio of people using social and print media is the same.

d. People prefer reading soft copies of the newspaper.

4. A girl had posted a picture of her birthday party in her Facebook account. It can be
assumed that she (choose the wrong option):

a. feels very happy to share such photos with her friend.

b. has some mental health problems and keeps posting such pictures.

c. wants to share it with her friends who couldn't attend the birthday party.
d. keeps posting such pictures as it satisfies her emotionally.

5. Excessive usage of social media can leave a person socially isolated. This may happen
because

a. some teenagers aren’t successful in connecting with peers offline.

b. they are isolated geographically and don’t feel accepted in their peer groups.

c. the connections social media users form electronically are less emotionally satisfying.
d. they spend more time connecting electronically.

Grammar: Pronouns

Q.1. Pick the correct pronoun for each sentence. Choose “a” or “b” from the listed options.

1. Gary's mom asked to clean the garage.
a. he b. him
2. Neither Mary nor knew why the store was closed.

a. | b. me



3. After school, you and must discuss a few things.
a. l b. me

4. My nephew was crying and needed diaper changed.
a. their b. his

5. Did she see ?

a. us b. we

6. | took the bag from

a. him b. they

7. My brother and went to the park.
a.l b. us

8. What did do about the car?

a. them b. they

9. What did say about the work?

a. me b. she

10. Where will go from here?

a. you b. us

Q.2 .Pick the pronoun from the options to fill the blank in the sentence:

1. Ria forgot bag in the playground.
(@). She (b). Her (c). His
2. belongs to the most intelligent group of boys in the school.
(@). He (b). She (c). It
3. Simran is taking dance classes at __ home.
(a). Her (b). His (c). She
4. Ritika is helping ___ brothers in cleaning the room.
(a). His (b). Her (c). Their
5. Kids areeating ____ lunch.
(@). Their (b). There (c). his
6. Yesterday _ ate popcorn while watching a movie.
@.1 (b). Myself (c). Me
7. The cat has finished the food in __ bowl.
(@). Its (b). His (c). Her
8. Gouriopened __ umbrella to avoid getting wet in the rain.
(@). She (b). Her (c). Herself
9. | have a Buddha statue at home. ___is brown in color.
(@). Its (b). Itself (c). It
10. _ are wearing their jackets as the weather is getting cold.
(@). Their (b). They (c). Them
Literature

Chapter -3 Gopal and The Hilsa fish(Honeycomb)



Q.1. Multiple Choice Questions-

a) It was the season of-

(1) mangoes (i) hilsa fish (i1i) Tuna fish
b) Everyone was talking about hilsa fish so, the king got
(i) excited (i) happy (ii) irritated
c) The king challenged Gopal to buy —
(1) a hilsa fish (if) a mango (111) a beautiful dress

d) Gopal wore -
(1) beautiful clothes (ii) disgraceful rags (iii) dhoti and kurta
e) Gopal started to enter the palace.
(1) crying (i1) shouting (iii) dancing and singing
Ch-4 The ashes that made trees bloom (Honeycomb)
a) The old couple has a—

(i) pet cat (i) pet dog (iii) cow
b) The old man was a farmer.
(1) rice (i) jute (iif) wheat
c) Which country is the story set in -
(i) France (ii) Russia (iii) Japan
d) The meaning of ‘daimios’
(i) poor people (i) wealthy land owners (iii) labours
e) The old man found —
(i) a heap of gold (i) diamonds (iii) pearls

Poem No.3 The Shed
Q.1. Multiple Choice Questions:

a) The shed is located at

(i) outside the house (i) near the river (iii) at the bottom of the garden
b) The shed has as suggested by his brother.
(i) mice (i) ghosts (i) cats

¢) The poet was thinking that he will -
(i) never go to shed (ii) open the door of the shed (iii) break the door of the
shed

d) The meaning of ‘creak’ is-

(i) paint (i) crack (iii) screech
e) were hanging across the doors of the shed.
(i) old clocks (i) torn clothes (iii) spider webs

Chapter — 3 The Desert (An alien hand)

a) There are types of deserts.



(i) two (ii) three (iii) four
b) The popular belief is that the desert is an endless stretch of-
(i) vegetation  (ii) sand  (iii) water
c) Anoasisislikea___ island in the middle of a desert.
(i) blue (ii) green  (iii) white
d) All living things need __in order to survive.
(1) sand (i) water (iii) grass
e) Camelcanstand __ body temperature.
(i) low  (ii) high (iii) moderate
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ASSIGNMENT BOOKLET
(VII" MATHEMATICS)

Name of the student

Class & -VII__ Ch 3 DATA HANDLING

1 Marks Questions

MULTIPLE CHOICE QUESTIONS

Q.1) Which is the least liked subject?

Subject| Number of
students
Art 7
Maths 8
Science 6
English 5

Art
Science
Maths
English

COowp



Q.2) The table shows the heights of the students in Mr. Jivesh's class. Find the median of the
data.

Height (In inches) | Number of students

57 3
58
59
60
61
62
63
64

LI ON [~ [ b9 [ [

n

62
58
59
61

CoOw>

Q.3) The table shows the heights of the students in Mr. Ashish's class. Find the range of the
data.

Height (In inches) | Number of students

57 3
58 5
59 4
60 2
61 7
62 6
63 3
64 5

A. 64

B. 5

C. 3

D. 7



Q.4) The table shows the average rainfall in a village during 5 months. What is the mean
rainfall in the village during the 5 months?

Month Rainfall (mm)
Januarv 38
February 46
March 41
April 45
May 43
A. 40.6 mm
B. 44.6 mm
C. None of these
D. 80.1

Q.5) The table shows the average temperature in a state during 5 months. Find the range of
the data.

Month | Temperature
January 39
February 47
March 40
April 46

May 43

A. 70°C

B. 90°C

C. 80°C

D. 100°C

Q.6) Find the median of the data set, which shows the weights (in pounds) of 10 students in
Mr. Brij's class. : 61, 56, 60, 57, 62, 63, 63, 63, 58 and 73

a) 63
b) 64
c) 61.5

d) None of these



Q.7) The table shows the heights of the students in Mr. Tinku's class. Find the mode of their
heights.

Height (In inches) | No. of students
55

56

|t
|

n
o0

n
O
o b0 [ [\O | | | L

a) 6

b) 59

c) 58

d) None of these

8. The following probabilities are given; choose the correct answer for that which is not
possible.

(@ 0.15
(b) 2
(©2

(d) none of these.

9. If three coins are tossed simultaneously, than the probability of getting at least two heads,
is

(a)

(b)2

©3



(o)

10. A letter is chosen at random from the letters of the word ASSASSINATION. The
probability that the letter chosen is a vowel:

OF

(0) 55

(©1

(d) none of these.

VERY SHORT QUESTIONS

11) When a die is thrown, list the outcomes of an event of getting a prime number?

12) When a die is thrown, list the outcomes of an event of getting a number greater than 5?
13) When a die is thrown, list the outcomes of an event of getting a composite number?

14) A bag contains 3 red and 2 blue marbles. A marble is drawn at random. What is the
probability of drawing a blue marble?

15) A bag contains 3 red and 2 blue marbles. A marble is drawn at random. What is the
probability of drawing a red marble?

Fill in the blanks:

16) Different forms of central tendency are and

17) The difference between the highest and lowest values of observations in a set of data is
called the

18) On dividing the sum of observation by total number of observations, we obtain
the



19) The representation of numbers using bars of uniform width, the length of the bars
depicting the frequency is called the

20) The possible results of an experiment are called

21) When the raw data is arranged in ascending or descending order, it forms an

22) The measure of chance of happening something is called

23)The probability of getting 1 in tossing of coin is

24) The probability of getting a tail in a throw of a dice is

25) The outcomes which have equal chances of occurrence are called

26) The number that divides the given data into two equal parts after arranging it in ascending
or descending order is called the

27) The observation that occurs most often is called

28) Probability of getting 7 when a number from 1 to 6 is selected is

29) Probability of an event always lie between and

30)If the arithmetic means of 8, 4, X, 6, 2, 7 is 5, then the value of x is

True/False.

31) Mean of a data set is the value which divides the value into two equal parts.

32) A data set may have more than one mode.

33) The value of median changes if the value in a data set are arranged in ascending order
instead of descending order



34) The data set 4, 8, 11, 7, 5, 0 has the mode 0.

35). Rolling the number 7 on a standard die is an impossible event.

36) The median can be value which is not equal to any of the observation.

37) Mean of the data is always from the given data.

38) It is impossible to get a sum of 14 of the numbers on both dice when a pair of dice is
thrown together

39). Mode of the data is always from the given data.

40)Mean of the observations can be lesser than each of the observations.

2 Marks Questions

41) The mean of 5 numbers is 25. If the four numbers 16, 26, 31, 32. Find the fifth numbers.

42) A batsman scored the following number of runs in six innings:
36, 35, 50, 46, 60, 55
Calculate the mean runs scored by him in an inning

43) Find the range of heights of any ten students of your class.

44) Organize the following marks in a class assessment, in a tabular form.
4,6,7,5,3,54,5,2,6,2,5/1,9,6,5,8,4,6,7

(i) Which number is the highest?

(it) Which number is the lowest?

(ii1) What is the range of the data?

(iv) Find the arithmetic mean.



45) A cricketer scores the following runs in eight innings:
58, 76, 40, 35, 46, 45, 0, 100
Find the mean score. Find the mean of the first five whole numbers.

3 Marks Questions

46) Following table shows the points of each player scored in four games:

Player Gamel |Game?2 |Game 3 Game 4
A 14 16 10 10

B 0 8 6 4

C 8 11 Did not play 13

Now answer the following questions:

(1) Find the mean to determine A’s average number of points scored per game.

(i) To find the mean number of points per game for C, would you divide the total points by 3
or by 4? Why?

47) The marks (out of 100) obtained by a group of students in a science test are 85, 76,
90, 85, 39, 48, 56, 95, 81 and 75. Find the:

(i) Highest and the lowest marks obtained by the students.

(ii) Range of the marks obtained.

(iii) Mean marks obtained by the group.

48) The enrolment in a school during six consecutive years was as follow: 1555, 1670, 1750,
2013, 2540, 2820
Find the mean enrolment of the school for this period.

49) The rainfall (in mm) in a city on 7 days of a certain week was recorded as follows:
Days Rain fall (in mm)
Monday 0.0

Tuesday 12.2



Wednesday 2.1

Thursday 0.0
Friday 20.5
Saturday 5.5
Sunday 1.0

I)Find the range of the rainfall in the above data.

(i)Find the mean rainfall for the week.
(iii) On how many days was the rainfall less than the mean rainfall.

50) The heights of 10 girls were measured in cm and the results are as follows:
135, 150, 139, 128, 151, 132, 146, 149, 143, 141

(i) What is the height of the tallest girl?

(it) What is the height of the shortest girl?

(iii) What is the range of the data?

(iv) What is the mean height of the girls?

(v) How many girls have heights more than the mean height.

51) Use the bar graph (see the given figure) to answer the following questions.
(a) Which is the most popular pet?
(b) How many children have dog as a pet?

Pets owned by students
of class seven

| [ |

EEBE

Pet animals

Students
CMNBOHOS S
|

52) Number of children in six different classes are given below. Represent the data on a
bar graph.

Class Fifth Sixth  Seventh |[Eighth Ninth Tenth

Number of children 135 [120 95 100 90 80



a)How would you choose a scale?

(b) Answer the following questions:

(i) Which class has the maximum number of children? And the minimum?
(i) Find the ratio of students of class sixth to the students of class eight.

53) The performance of students in 1st Term and 2nd Term is given. Draw a double bar
graph choosing appropriate scale and answer the following:

Subject English Hindi |Maths  Science S. science
1st Term (M.M. 100) |67 72 88 81 73
2nd Term (M.M. 100) 70 65 95 85 75

(i) In which subject, has the child improved his performance the most?
(ii) In which subject is the improvement the least?
(iii) Has the performance gone down in any subject?

54) Take the data giving the minimum and the maximum temperature of various cities
given in the following table:
Temperatures of the cities as on 20.6.2006

City Max. Min.
Ahmedabad 38 °C 29 °C
Amritsar 37°C 26 °C
Bangalore 28 °C 21°C
Chennai 36 °C 27 °C
Delhi 38°C 28°C
Jaipur 39°C [29°C
Jammu 41°C 26 °C

Mumbai 32°C 27°C



Plot a double bar graph using the data and answer the following:

(i) Which city has the largest difference in the minimum and maximum temperature on the
given date?

(it) Which is the hottest city and which is the coldest city?

(iii) Name two cities where maximum temperature of one was less than the

minimum temperature of the other.

(iv) Name the city which has the least difference between its minimum and the maximum
temperature

4 Marks Questions

55) Find the mode and median of the data: 13, 16, 12, 14, 19, 12, 14, 13, 14

56)The weights (in kg.) of 15 students of a class are:
38, 42, 35, 37, 45, 50, 32, 43, 43, 40, 36, 38, 43, 38, 47
(i) Find the mode and median of this data.

(i) Is there more than one mode?

57) The run scored in a cricket match by 11 players is as follows:
6, 15, 120, 50, 100, 80, 10, 15, 8, 10, 15
Find the mean, mode and median of this data. Are the three same?

58)The scores in mathematics test (out of 25) of 15 students is as follows:
19, 25, 23, 20, 9, 20, 15, 10, 5, 16, 25, 20, 24, 12, 20

Find the mode and median of this data?

59) Tell whether the following is certain to happen, impossible, can happen but not certain.

(i) You are older today than yesterday.

(i) A tossed coin will land heads up.

(iii) A die when tossed shall land up with 8 on top.
(iv) The next traffic light seen will be green.

(v) Tomorrow will be a cloudy day.



60) There are 6 marbles in a box with numbers from 1 to 6 marked on each of them.
(i) What is the probability of drawing a marble with number 2?
(if) What is the probability of drawing a marble with number 5?

61) A coin is flipped to decide which team starts the game. What is the probability that
your team will start?

62) A box contains pairs of socks of two colors (black and white). I have picked out a
white sock. I pick out one more with my eyes closed. What is the probability that it will make
a pair?

63) Find the mean

a) 3,4,5,6,7,8,9,10

b) 1.5,1.2,2.3,2.4,3.5

c) the mean of your sleeping hours during one week.

64) Find the mode of the given set of numbers
a)l1,1,1,2,2,2,2,3,4,45,45,6,6,7

b) 35,26,35,66,35,56,26,26,34,24
€)2,223,3,4,5,5,5,6,6,8

65) Find the median of the data

a) 15,10,12,18,14,16,7

b) 1,7,4,2,3,4

c) 16, 24, 20, 39, 19, 23, 26, 23, 18, 20

66) The number of trees in different parks of a city are 33, 38, 48, 33, 34, 34, 33 and 24. The
mode of this data is

()24

(b) 34

(c) 33

(d) 48

67Which measures of central tendency get affected, if the extreme observations on both the
ends of a data arranged in descending order are removed?

68) Organise the following marks in a class assessment, in a tabular form.



4,6,7,5,3,5/4,5,2,6,2,51,9,6,5,8,4,6,7
(1) Which number is the highest?
(it) Which number is the lowest?
(iii) What is the range of the data?
(iv) Find the arithmetic mean.
69) Find the median of the following data
25,15, 6,17, 19, 13,10, 6, 7
70) A fair die is rolled , find the probability of getting a prime number
71) Find the mean of the first 6 multiples of 8.

72) A bag contains 7 white and 9 red balls .one ball is drawn at random from the bag .find
the probability of getting

a) a white ball

b) a red ball

73) Find the mean and median of first 6 odd numbers?
74) Find the average of the numbers 7,13,14,62?

75) Will the range of the data 3, 7, 1, - 2, 2, 6, -3, -5 would change if 8 was added to each
value in the data. Show both cases?

Case study-based questions are compulsory. Attempt any 4 sub parts from each
guestion. Each question carries 1 mark

76) Mean : there are several kinds of mean in mathematics, especially in statistics:
For a data set, the arithmetic mean, also known as average or arithmetic average, is a central

value of a finite set of numbers: specifically, the sum of the values divided by the number of
values. Answer the following questions
1. Findthe meanofx+77,x+7,x+5,x+3and x —2?

(@ x+8 (b) x + 18 (c)x-8 (d)x-18
2. If each observation of the data is increased by 5, then what happens to its mean?
(@) is increased by 4 (b) is increased by 5 (c) is decreased by 4 (d) is decreased by 5

3. The mean of five numbers is 30. If one number is excluded, their mean becomes 28. What
is the excluded number?



(a) 38 (b) 35 (c) 33 (d) 36
4. What is the median of the data 78, 56, 22, 34, 45, 54, 39, 68, 54, 84?
(a) 54 (b) 53 (c) 55 (d)51
5. . In the class intervals 10-20, 2030, the number 20 is included in which of the following?
(a) 10-20 (b) 20-30

(c) both the intervals (d) none of these intervals

77) Organise the following marks in a class assessment, in a tabular form.
4,6,7,5,3,5/4,5,2,6,2,5,1,9,6,5,8,4,6, 13

Based on above information answer the following questions :

(i) Which number is the highest?

(@3 (b) 13 ()6 (d)8
(if) Which number is the lowest?

@0~o (b) 1 ()2 (d)4
(iii) What is the range of the data?

(@2 (b) 12 (c) 10 (d)8
(iv) Find the arithmetic mean.

(@3 (b) 5 (c)3 (d) 36

78) Observe this bar graph which is showing the sale of shirts in a ready-made shop from
Monday to Saturday

I unit length = 5 shirts

5 10 15 20 25 30 35 40 45 50 55 60 65
No of shirts sold

Now answer the following questions:
(i) What information does the above bar graph give?

a) Number of shirts sold c) Number of trousers sold
b)  Number of shirts bought d) None of the above

(i) What is the scale chosen on the horizontal line representing number of shirts?
a) 1 unit length = 5 shirts C) 2 unit length = 5 shirts
b) 5 unit length = 5 shirts d) None of the above



(iii) On which day were the maximum number of shirts sold?
a) Saturday b) Monday ¢) Wednesday d) Friday

(iv) On which day were the minimum number of shirts sold?
a) Wednesday  b) Tuesday ¢) Monday d) Saturday

(v) How many shirts were sold on Thursday?
a) 35 shirts b) 25 shirts c) 15 shirts d) 12 shirts

79 ) Following pictograph shows the number of tractors in

five villages.

Village Number of tractors ﬁ - 1 Tractor

vnger | i o dip Bl i ol

viages | iy i o ol ol

viegec | iy i i i Bl din i &
viegeo | iy i o

. X X X X X

Observe the pictograph and answer the following questions.

(i) Which village has the minimum number of tractors?

a) Village D b) Village A C) Village B d) Village C
i) Which village has the maximum number of tractors?
a) Village D b) Village A C) Village B d) Village C

(iii) How many more tractors village C has as compared to village B.
a) 5 tractors b) 6 tractors  C) 3 tractors d) 8 tractors

(iv) What is the total number of tractors in all the five villages?
a) 28 tractors b) 16 tractors  C) 18 tractors d) 38 tractors

(v) How many more tractors village C has as compared to village D.
a) 5 tractors b) 4 tractors C) 2 tractors d) 1 tractors



Name of the student

Class & -VII__ Ch 2 Fractions & Decimals

1 Marks Questions

Multiple choice questions

l.Ina - fraction the numerator is always less than the denominator.

A. Proper fraction
B. Improper fraction
C. Mixed fraction

2.lna

- fraction the numerator is bigger than the denominator.

A. Proper fraction
B. Improper fraction
C. Mixed fraction

3. An example of an improper fraction is ——

4. An example of a proper fraction is —

W
SN R NION [F SN

5. A—— fraction has a combination of a whole and a part.



A. Proper fraction
B. Improper fraction
C. Mixed fraction

6. The equivalent fraction ofg IS

A. 2/4
B. 6/9
C. 2/6

7. A fraction is said to be in the
common factor except 1.

A. Standard form
B. Simplest form
C. Exponential form

- form if its numerator and denominator have no

8. Fractions with same denominators are called

A. Unlike fractions
B. Like fractions
C. Mixed fractions

9. Which is the largest fraction?

A. 3/8
B. 4/8
C.5/8

10. Ing .5 is called the

A. Numerator
B. Denominator
C. Quotient

True/ False

9 13



12) AmongZ ,E and — , the largest is 22
5 35 14 35

11 9 17
lS);E _-56 ::EE .

14)i of a litre = 440 ml.
25

15) = x— =—2
34 25 310
FILL IN THE BLANKS

16)59+39=_
17) 89+ 712=____

18) 56 +78=__

19) 712 + 1116 +924 =
20) 345+ 2310 + 1115 =

21) 834 + 1025=

Compare the fractions:(22-24)
22) 2 and~
7 16
23) > and=
9 5
24) 2 and:
2 6

Arrange the following fractions in ascending order:(25-26)

25)% ’E 7 'E,

6 '9 '234

26) 2 = =

10 '15"'

Find the sum _(27-30)

27)% +16+24



28)2 +2

8 24

13 14
209) 2 + 22

6 8

12 14
=+ =
8 16

30)

2 Marks Questions

31) Reenu got% part of an apple while Sonal got% part of it. Who got the larger part and by
how much?

32) A picture is% cm wide. How much should it be trimmed to fit in a frame 1—70 cm wide?

33) Sushi reads part of a book in 1 hour. How much part of the book will he read in 3
2/3hours?

34) V and P went for a picnic. Their mother gave them a water bag that contained 5 litres of
water. V consumed % of the water. P consumed the remaining water. What fraction of the
total quantity of water did P drink?

Find the value (35-38)

35)~ of (i) 24 (ii) 46

36)= of ()18 (i) 27

37)2 of (i) 16 (ii) 36

38)z of ()20  (ii)35

MULTIPLY AND REDUCE TO LOWEST TERM AND CONVERT INTO MIXED
FRACTION



3

40) 4 x -
3
3 Marks Questions

41) A rope of length 5 m has been divided into 9 pieces of the same length. What is the
length of each piece?

42) Rohit takes g minutes to make complete round of a circular park. How much time will he
take to make 15 rounds?

43) Amit weighs 35 kg. His sister Kavita's weight is% of Amit's weight. How much does
Kavita weigh?
44) For the celebrating children’s day, students of Class VII bought sweets for Rs. 740.25 and

cold drink for Rs. 70. If 35 students contributed equally what amount was contributed by
each student?

45) There are 42 students in a class and ; of the students are boys. How many girls are there
in the class?

46) Sapna earns Rs 12000 per month. She spendsg of her income and deposits rest of the
money in a bank. How much money does she deposit in the bank each month?

48) 24 litres of milk was distributed equally among all the students of a hostel. If each
student got E litre of milk, how many students are there in the hostel?



49) A bucket contains 20 % litres of water. A small jug has a capacity of Z litre. How many
times the jug has to be filled with water from the bucket to get it emptied?

50) Mangoes are sold at Rs 18 % per kg. What is the weight of mangoes available for Rs 157?

51) Convert 6.432 into a decimal fraction.

52) If 12 inches = 1 foot (ft) then change 549 inches into ft.

53) A fruit seller buys 712 fruits, of which , % are apples. Of all the apples that he bought, %

were found to be rotten. If he sold all the good apples at Rs. 514 each. How much money did
he receive on selling all the good apples.

54) 21.875 liters of oil is in 13—2 cans of tin of equal capacity, find the capacity of oil in each
can.
55) Vera is using her phone. Its battery life is down to % and it drains% fraction every hour.

How many hours will her battery last?

56) A car runs 9 km using 1 liter of petrol. How much distance will it cover in 3 % litres
petrol?

57) By what number should %2 be divided to obtain % ?
58) Milk is sold at Rs % per litre. Find the cost of 625625 litres milk.?

59) A bucket contains % litres of water. A small jug has a capacity of% litre. How many
times the jug has to be filled with water from the bucket to get it emptied?

60) 24 litres of milk was distributed equally among all the students of a hostel. If each student
got g litre of milk, how many students are there in the hostel?

4 Marks Questions



A1)
1 1 1 . .
In the pattern §+E+§+“" which fraction makes the sum greater

than 1 (first time)? Explain.

62)

1
A student compared ~Z and —0.3. He changed w% to the decimal

—0.25 and wrote, “Since, 0.3 is greater than 0.25, —0.3 is greater than
—0.25." What was the student’s error?

63)
0.1
0.0 ?
0.001 0.0001
64)

The['e are four containers that are arranged in the ascending order of
their heights. If the height of the smallest container given in figure is

7
expressed as Ex=10.5 cm. Then, find the height of the largest

container.
3.

I |
-HELL

65) Raj travels 360 km on three-fifth of his petrol tank. How far would he travel at the same
rate with a full tank of petrol?

66) Anuradha can do a piece of work in 6hours. What part of the work can she do in 1 hour,
in 5 hours and in 6 hours?



67) In a survey, 200 students were asked what influenced them most to buy their latest CD.
The results are shown in the circle graph
[

Influence for Buying CDs

Radic Friend/Felative

Heard/Saw
in Shop

Music Video
Other Live Channel
Performance

(a) How many students said radio influenced them most?
(b) How many students were influenced by radio than by a music video channel?
(c) How many said a friend or relative influenced them or they heard the CDshop?

68) The time taken by Rohan in five different races to run a distance of 500 m was 3.20
minutes, 3.37 minutes, 3.29 minutes, 3.17 minutes and 3.32 minutes. Find the average time
taken by him in the races.

Case study-based questions are compulsory. Attempt any 4 sub parts from each
guestion. Each question carries 1 mark.

69) Fractions provides a step-by-step introduction through a visual and conceptual approach.
Basic terminology is covered, followed by procedures for classifying fractions, finding
equivalent fractions, reducing to lowest terms, and comparing and ordering. Converting
between improper fractions and mixed numbers is also covered.

Each side of a polygon is 2.9 cm in length and its perimeter is 17.4 cm. On the basis of above
information , answer the following question based on above information :

1.Find the perimeter of the polygon
a) 17.4 cm b)13.5cm )56 cm d)12.6 cm

2. . How many sides does the polygon. have?



a) 6 sides b)7 sides C)8 sides d)9 sides
3. Divide 2.9 cm by 1000?

a) 0.0029 b) 0.29 €)0.2900 d)0.00029
4. Multiply 2.9 x1000

a) 2900 b) 290000 c) 2.90 d)29000

70 ) Definition: A decimal is any number in our base-ten number system. ...
The decimal point is used to separate the ones place from the tenths place in decimals. It is
also used to separate dollars from cents in money. As we move to the right of

the decimal point, each number place is divided by 10. Sejal can walk to 2 % km in an hour

and he covers this distance in 3 § hours on the basis of this information, answer the following
questions :

. . . . 1
1. How much distance will it cover in 3 3 hours?

a)16 km )13 km c) 8 km d)12 km
2. How much distance is covered by sejal in one hour?
a) 1= km b) = km €)45 km d)67 km
3. Convert 3 % hours into minutes ?
a) 210 min b) 340 min ) 560 min d)450min
4.1 hours = min.
a) 60sec b) 60 min €)120 min d)90min

CHAPTER -3

FIBRE TO FABRIC
Q1- MCQ(S)
(a)The process of removing hair from the body of a sheep is called
(1) shearing (ii) sorting (iii) spinning (iv) combing
(b)The fleece of sheep is combed to remove
(i)dust (ii) dirt (iii) burrs (iv) grease
(c)Which country leads the world in silk production?
()India (ii) China (iii) Japan (iv) Brazil

(d)Which of the following is not an animal fibre?



(i)polyester (ii) wool (iii) silk (iv) pashmina

Q2 VERY SHORT ANSWER QUESTIONS

1. What is meant by Sericulture?

2. Name an Indian breed of sheep that gives good quality wool.

3 .Name the process of rearing of silkworm for obtaining silk.

4. Why do we not wait for the silk moth to hatch and then boil th cocoon?

5. Why does shearing not hurt the sheep?

Q3 SHORT ANSWER QUESTIONS

1. Differentiate between silk and wool.

2. With the help of a flow chart describe the life cycle of silk worm.
3. If we burn silk fibre it gives us smell of burning hair. Why?

4. Animals activist are against the silk production why?

5. How do the hair of certain animals help in keeping their body warm?

Q4 LONG ANSWER QUESTIONS
1. Write the various steps involved in the production of silk cloth from silk moth.

2. Describe the process of wool production.

Q5 HOTS

1. If we burn silk fibre, it gives a smell of burning hair. Why?

2. Animal activists are against the silk production. Why?
CHAPTER -4

HEAT AND ITS EFFECTS
Q1- MCQ(S)



(a)The mode of heat transfer that does not require a medium is

(i) conduction (ii) convection (iii) radiation (iv) reflection

(b)The normal temperature of a healthy human body is

()30 °C (i)35°C  (iii)40°C  (iv)37°C

(c)When one end of metal rod is heated, the other end of the rod gets heated by
(i)conduction (ii) convection (iii) radiation (iv) reflection

(d)Handles of cooking utensils should be made of materials that are

(i)conductors (ii) insulators (iii) radiators (iv) reflectors

Q2 VERY SHORT ANSWER QUESTIONS

1. What are the two conditions necessary for the conduction of heat?

2. How do we measure heat?

3 .Which is the fastest mode of heat transfer: conduction, convection or radiation?
4. What is the range of Celsius scale?

5. Name the thermometer used to measure the temperature of boiling water.

Q3 SHORT ANSWER QUESTIONS

1. What is the sea breeze? How is it set up?

2. Why is mercury used in thermometers?

3. Convert 77 °F into degree Celsius.

4. Define radiation. Give one example to show heat transfer by radiation.

5. Define conduction. Give one example to show heat transfer by conduction.

Q4 LONG ANSWER QUESTIONS
1.Give reason for the following:
(i) Air conditioned buildings have double walled doors

(ii) False ceiling keeps the room warm during winters



2. Describe the construction of a laboratory thermometer. Give two precautions to be taken
while reading a laboratory thermometer.

Q5 HOTS
1.Explain why a clinical thermometer cannot be used to measure high temperature.

2.Why is water not used instead of mercury in thermometer when it is easily available to
you?

CHAPTER -5

ACIDS, BASES AND SALTS
Q1- MCQ(S)
(a)The mode of heat transfer that does not require a medium is
(1)conduction (ii) convection (iii) radiation (iv) reflection
(b)The normal temperature of a healthy human body is
(1)300C (ii) 350C (iii) 400C (iv) 370C
(c)When one end of metal rod is heated, the other end of the rod gets heated by
(i) conduction (ii) convection (iii) radiation (iv)reflection

(d)Handles of cooking utensils should be made of materials that are

(i)conductors (ii) insulators (iii) radiators (iv) reflectors

Q2 VERY SHORT ANSWER QUESTIONS

1. Which acid is present in an ant’s sting?

2. Name two natural indicators and two human made indicators.
3. What is an acid? Name any two acids

4. Which acid is produced in our stomach?

5. What is a base? Name any two bases.

Q3 SHORT ANSWER QUESTIONS

1. Why do curd, lemon juice and tamarind taste sour?



2. How will you test whether a given solution is acidic, basic or neutral with

a litmus paper?

3. What happens in the stomach when we eat very spicy food?

4. What should be added in the soil when it is(i)too acidic 9ii) too basic

5. Annie is playing in her garden with her friend, Ishrat. Suddenly a bee

Bites Ishrat . Annie immediately brings baking soda and rubs it on the stung area.
(a) Why does Annie apply baking soda?

(b)What value can you learn from Annie?

Q4 LONG ANSWER QUESTIONS

1. Differentiate between acids and bases.

2.What are organic acids, name any two organic acids. How are mineral acids different from
organic acids

Q5 HOTS

1. If you are provided with three colourless solutions:- Dil NaOH, water and dil HCI, then
how will you identify water from them without tasting.

2. While playing in a park, a child was stung by a wasp. Some elders suggested applying
paste of baking soda and others lemon juice as remedy. Which remedy do you think is
appropriate and why?

UT 2 CLASS 7
Geography Ch-2 Inside our Earth( Class 7)
MCQs Questions with Answers

Question 1.
minerals are found in the continental masses
(@) Silica and alumina
(b) Silica and magnesium
(c) Nickel and iron
(d) Silicaand iron

Question 2.



There are three major types of rocks except
(a) Metamorphic rocks

(b) Sedimentary rocks

(c) Igneous rocks

(d) Mantle rocks

Question 3.

Which type of rocks is called primary rocks
(@) Fossils

(b) Igneous

(c) Metamorphic

(d) Sedimentary

Question 4.

When magma from deep below forces its way up to earths surface, it is called
(a) Sand

(b) Marble

(c) Sediments

(d) Volcano

Question 5.

Sandstone is made from
(a) Grains of soil

(b) Grains of plants

(c) Grains of water

(d) Grains of sand

Question 6.

The Taj Mahal is made of
(@) White marble

(b) Black marble

(c) Red marble

(d) Yellow marble

Question 7.

Fossils are the remains of dead
(a) Plants

(b) Animals

(c) Bothaand b

(d) None of the above

Question 8.
Lithosphere is
(a) Mantle



(b) Magma
(c) Core
(d) Crust

Question 9.

rocks are hard where rocks are soft.

(a) sedimentary, lava

(b) sedimentary, magma
(c) sedimentary, igneous
(d) igneous, sedimentary

QL. Fill in the blanks.
I. Igneous rocks are also called rocks.
ii. : and coal are examples of minerals.
iii.The thinnest layer of the earthis
iv Deccan plateau is made up of __ rocks.
v.The Taj Mahal is made of

Very short answer type questions
1. Give an example of extrusive igneous rocks.
. What is the radius of earth?
What is the core of the earth made up of?
What is the innermost layer of the earth?

. What are the three layers of the earth?
. What is crust?

. What is the uppermost layer of the Earth called?

2
3
4,
5. Name the monument which is made of red sandstone?
6
7
8
9.

What is the Latin word for igneous?
10. What is the Latin word for sedimentary?
11. What is the Greek word for metamorphic?

12. What are the main mineral constituents of the continental mass?
13. How much of the earth is crust, mantle and core?

14. What makes up the crust of the earth?

Short Answer type questions

1.Why is the earth called a dynamic planet?
2.What are the three layers of the earth?

3. What is a rock?

4. Name three types of rocks.

5. How are extrusive and intrusive rocks formed?
6. What do you mean by a rock cycle?

7.What are the uses of rocks?

8. What are metamorphic rocks?



9.What do you know about the interior of the earth? Explain with the help of diagram.(Long
answer type)

Class 7
Civics Ch-2 Role of the Government in Health

1- On which of the following does our good health depend?
(a) Clean drinking water

(b) Pollution-free environment

(c) Hygienic food

(d) All of these

2- What should be changed weekly to avoid breeding of mosquitoes’?
(@) T.V. sets (b) Water in coolers
(c) Roof tops (d) None of these

3- How much percentage of all communicable diseases are water borne?
(@) 11% (b) 21%
(c) 31% (d) 50%

4- Which one of the following is a communicable disease?
(a) Headache (b) Cancer
(c) Sore Throat (d) Diarrhoea

5- Which type of healthcare facility is costly?
(a) Private (b) Public
(c) Both (d) Both are same

6 -Tax money is used to fund which of the activities?
() Education (b) Defence
(c) Police (d) All of these

7- By whom are the public health services run?
(a) Government (b) Private organisations
(c) Private doctors (d) None of these

8-What does PHC mean?
(a) Private Health Centre
(b) Public Health Court
(c) Primary Health Centre
(d) All of these



9- What does RMP mean?

(a) Registered Medical Practitioners
(b) Retired Medical Practitioners

(c) Recognised Medical Practitioners
(d) All of these

10- Where are medicines sold?
(a) Dispensary

(b) Medical stores

(c) Government hospitals

(d) None of these

VERY SHORT ANSWER TYPE QUESTIONS

. What do people in a democratic country expect the government?

. Where do most doctors prefer to settle?

. Name some water-borne diseases.

. What problem do rural people face whenever they come in a grip of an illness?
. What do we need to prevent and treat illnesses?

. What do you mean by a public health care system?

. What happened to Hakim Sheik?

. Why did Hakim Sheik file a case in the court?

. Who got costly medical treatment—Aman or Raryan?

10. What did the court ask the State Government in the Hakim Sheik case?

O© 00 NOoO O WN -

Long type gquestions and answers:-

Q11. Write down the main features of the public health system.

Q12-Mention some positive aspects of healthcare in India.

Q13). Compare public health services with those of private health services.

Q14) What is the Costa Rican approach? Explain.

Q15) What major changes were made by the Kerala government in the state in 19967

Class 7 History Ch-2 New Kings and Kingdoms

MCQ



Q1.Many new dynasties emerged after the .................. century?

A. 9th
B. 10th
C. 7th
D. 5th

Q2. By the seventh century there were......... in different regions of the subcontinent.

A. Bigrulers

B. Dacoits

C. big landlords or warrior chiefs
D. Priests

Q3. Arritual called hiranya-garbha (literally, the golden womb) was considered as the ...... ?

A. “Rebirth” of the sacrificer as a Kshatriya
B. Rebirth as a brahman

C. Sacrificial performance

D. None

Q4. The Kadamba Mayurasharman and the GurjaraPratihara Harichandra were ........... who
gave up their traditional professions and took to arms?

A. Vaishyas
B. Brahmans
C. Kshatriyas
D. Shudras

Q5. Maharaja-adhiraja stands for ........ ?

A. Great king

B. Lord of the three worlds
C. The creator

D. The protector

Q6. Tribhuvana-chakravartin stands for ...... ?

A. Great king

B. Lord of the three worlds
C. The creator

D. The protector



Q7. The functionaries for collecting revenue were generally recruited from .......
positions were often hereditary

A. Royal families

B. Local families

C. influential families
D. All

Q8. Prashastis were composed by .........

A. Administrators
B. Historians

C. Teachers

D. Brahmanas

Q9. Kings often rewarded Brahmanas by grants of land. These were recorded on

A. Paper

B. Iron boards
C. copper plates
D. Bronze plates

Q10. What was the other name of the great lord of a ‘circle’ or region?

A. Samantas

B. Subordinates

C. Maha-mandaleshvara
D. King

VeryShort type questions/Answers:

Q 1-Who were the parties involved in the ‘tripartite struggle’?

Q2-What were the two major cities under the control of the Chahamanas?
Q3-Who was Dantidurga?

Q4. What were ‘prashastis’?

Q5-Who were the writers of Prashastis?

Q6-Who was Kalhana?

Q7-What was ‘tripartite struggle’? [V.Imp.]



Q8- Who wrote Kitab al-Hind?

Q9- Who was Prithviraja in ?

Q10-Who destroyed the temple of Somnath?

Q11 -Why are the temples of Thanjavur and Gangaikonda-cholapuram famous for?[V. Imp.]
Q12. What was called as ‘ur’?

Q13. What were called ‘nadu’?

Q14. What was known as ‘brahmadeya’?

Q15. Define ‘nagarams’.

Q16. What was ‘sabha’?

Short Answer Type Questions

1. Trace out the emergence of the new class of rulers. [V. Imp.]

2- How was the financial position controlled in these states? [V. Imp.]
3-Write a note on ‘Prashastis’.

4- Who was Kalhana? Why was he famous for?

5-. Who was Prithviraj I11? Who defeated him?

6-. What was the role of temples during Chola kingdom? [V. Imp.]
7-Describe the irrigation system of the Chola kingdom. [Imp.]

8-. How long did tang dynasty last?

Ans. Tang dynasty remained in power for about 300 years (from the seventh to the tenth
centuries)

9-. What do you know about periyapuranam?

10-. What role did Samantas play in politics?

11. How were brahmanas rewarded by kings?

12-. Who were the parties involved in the tripartite struggle?

Long Answer Type Questions

1. Write a note on Sultan Mahmud of Ghazni
2. How did the Cholas rise to power? Trace out the role of Rajaraja I in this rise.

CASE STUDY (HISTORY)

In 1318 the poet Amir Khusrau noted that there was “a different language in every region of
this land: Sindhi, Lahori, Kashmiri,

Dvarsamudri(insouthernKarnataka), Telangani(inAndhraPradesh),Gujari(inGujarat),Ma,,bari(i
nTamilNadu),Gauri,(in Bengal) ... Awadhi (in eastern Uttar Pradesh) and Hindi (in the area
around Delhi)”.

Amir Khusrau went on to explain that in contrast to these languages there was Sanskrit which
did not belong to any region. It was an old language and “common people do not know
it,only the Brahmanas do”.



1.Who was AmirKhusrau?
2.List the languages mentioned by Amir Khusrau?
3.What were his views regarding Sanskrit?

Q- This is a writing in Persian and Arabic. Answer the following questions related to this
picture:

IOk

1.What can make the reading of Persian and Arabic difficult?
2.What is nastaligstyle ofwriting?

3.What is shikastestyle ofwriting?

4. Which style of writing is there in the abovepicture?

COMPUTER

Chapter 3: Doing more with Excel

1. 1. What do you understand by excel?

2. What do you understand by column, row, cell.

3. How many numbers of cells are present in excel.

4. Explain any 10 formulas in Excel with example.

5. Write difference between Count, CountA.

6. Design Report card by using Excel,

7. What do you understand by if condition, Explain if condition with example.

8. What do you understand by sorting, sort data in Ascending or Descending
order by using some examples?

9. explain the difference between Max and Min function.

10. Explain cell formatting.



Chapter 4: Working with Charts

1. 1. Write steps to change font type, font group, font size, font colour.

2. what is the purpose of undo and Redo buttons in Excel?

3. Write any one way to insert a new column.

4. Distinguish between Print Preview and Setting sections in print window.

5. Distinguish between Portrait and landscape orientations.

6. How can a sheet be renamed or deleted in worksheet?

7. How will you change the colour of data in the range Al to D4 to blue?

8. What do you understand by chart? Explain the needs of the chart in Excel.
9. How many types of charts available in Excel. Explain all types of charts.
10. Write steps to convert data into Chart.

11. Write difference between Line chart and Pie chart.

12. What do you understand about the chart area?

13. Explain components of any Chart with the help of diagrams.

14. Write difference between 2D and 3D charts.

15. Can we modify Chart?

16. According to you, which explains more Table Data or Chart? why

17. Define Sparkline’s in a chart.

18. Design marksheet of any 5 subjects in Excel and apply sum, avg , min , percentage , if
condition in Marksheet and also apply formatting options.

Marksheet



Subject | Ut1l Ut | Max (25) Half Annual | Total Grade | Avg
(25) 2 fromutl/ |yearly (50) (Max
(25) | ut2 (25) Half
Annual)
(100)
Hindi
Maths
English
S.st
Science
Per %
Min
marks
Max
marks

2. Make a list of 10 more functions use in Excel. And Perform all functions in Excel
sheet.

3. Explain cell, active cell , cell pointers in excel with the help of example.

4.  What do you understand by count function, apply all types of count function like
countif, countA, countifs, count in excel sheet.

5. Design bill receipt in excel which should have productid, productname, quantity, price,
total after all column make bill with total amount with discount.

6. Update your first activity question of mark sheet by add count, count if, all count
related function in first mark sheet activity.

7. Make a list of any 10 functions use in Excel. And Perform all functions in Excel
sheet.

8. Explain use of Excel. How Excel makes our work essay.




9.  What do you understand by Chart? How many types of charts we have in Excel.

10.  Convert your excel data in all types of charts.

PEIGHIL]
BET-TETH
TYH: UT3: -FUTRaT=

. WW-
&) gireamy &fa ¥ 2
(@) H&: T ¥ I fachud 2
@™ giadt & arfd 2
() & WIS Pld ?
) AP aApfd: B2
() I F: dUd ?
(&) IO &: 91fd 2
(") d wier wfafay o 2
@) © T: Yo WIhH DHRATA « : HIRUA @’ Hafd 2
() < TAaYT: Yd: PSRN TURITY P ? © F: B vaq Hafd 2
@ &Y fwg: Foda: 2
%) : g fHafu 7 smerviiay 2
@) : g faarg A=t =nua 2
®) WW:W:?
(1) YR YT ° YT U g I3 2
@) * q: AT FATd © F: B T J19d 2
() DT TSI R RIEG: Yafd ?
@) g4 HaT I ?
() < TEIAT THURT < 3T Ual: fa=isy ug fvy -
@) < Froft T « 3fer vt fa=wor fey -

fg<dta: urs: —ﬁ@ﬁ*ﬁqﬁf

o THUSH IR -
@)oo b 9 amdia 2
@) TR & NS 2
@T) TH: B TRIUT 3= TigH a2
(9) SSHTH $H: THET & YT ?



(&) Hde famed): fipy &: amelq 2

() ST BT Tat YT 2

(@) HiaxT: 5y YT 2

(W) &Y Saard o1 fhfug afewf -2

& Fa TR fAfd 2

(@ P AUTT ?

(@) TMUTA®T: & g=afd 2

() WEg nedH fohe 2

(8) &: Pp&: SIld: ?

(@) oU: Fa: 3Uaq ?

(W)?F‘Ia?mﬁ_d’?

(@ « gamar < sfa ug @1 faufaa »

(¥) < IR « 314 U UTS F: UGiuare ueH Yy 2
@) < T 3fa U IS &: faaa ueq ugeay 2

(Y) < Fe3U: gfd U¢ UTS &: Taiaar! ugH ugaay 2
(N ‘W:Tﬁ: ‘eﬁ‘q‘rua‘q‘rﬁﬁwua%qer%v

qdld: Urs: - WraeeTH

() T UG JAfGUT= & ATEATH I 2
(@) T T DI YI: KT 2

@ Firrvaw faay & 3rpd- 2

() del P GE&H ?

@) HHUs: FURIH: TEH Fal 3T ?

&) Wmmﬁ’?

@) NP Ya Hid gRIfor Al 3 2
) e Haa wid fagya sae@H 3 2
(=) P! PUD GHICT ST 2

(1) B HTaT fUar 9 snfaay srpd 2

@) N$Hs: Hid aTeA TEH AN 2

@) Fids: f5Yq srmyaq 2

@) F: Wraaw! AR 2

(@) d: Yqd: olld: ?

(1) Bfd arg Nbs: T i 2

@ Mbs: foq sivwfa 2

Tqy: UTS: - FrAqTa® fasad



(@) Bfd sTadpay: Iufaer; Afw 2

(@) & BIATEdH Pafd ?

(@T) TTSIERT: FH SERT BT T 2

(@) dfed: a1 Iulk g%y sradard 2
(3')%37{ -g,'—r:mﬁmaﬁr?

(®) fou Fear yau fea 2

(B) P IgPT: I 2

(W) Ffamas & RTar: Jf= 2

()« fafay-awayen « 3fa vew faxred & ey 2
(3N) UTOTT Y11 I : gfd 2

(©) TRTST HElax: F: KT 2

(3) « THIH HTAH « 3fa Ugwy faviwor f& uew 2
() BTEATD: BRI B HRI: ?

@) eI % TegT fAfdra: srvaq 2

(on fob gefere 2

(@) U Fear s e 2

(¥) T U9 dd el Ifaawq 2

@) F: HISTdIqU: ?

(Y) I B IARG: Haq ?

U<IH: W:-mm
(@) ufvsar wRzadr gfa surftram &1 fayfiar 2
(@) HI $d: TP ARNETH YTedad! 2
() IHTETS H Ig faargH srvid »
(&) ST Rr&md Tarars Wy siigaw siffaad! 2
(&) IHTETS IS FF 3RS 2
(@) AL SR BT TP LTI 2
(B) THTETE B T T U YHOR] 3B 2
(1) THTETS fohesTy STy URead! 2
(3T) THTETS AT TH $F Ugad! 2
(S0 IS F: faaR: gvrfaar srvaq 2
() IRGT e FF RIFTNTH ?
(®) giFart=q T f& vafa 2
(S) THTETS B qeaPp1 3fferad 2
(@) THTETS-HEteuraT: Y= war srvaq 2

UE: UTo: -HaldIR:
(®)P: 9 Yciiad 2



(@) Il HGI IagIR VT ?
WREECICK

(9) &1 g P Hedl =A: I 7 Ydd 2
(F)®: HETRY : TR IR fasfa 2
(@) FH HHUN Jdd ?

(D) TSR T AT 2

(ST) TTITH HH Jdd ?

& U & Jdd ?
(a)um:aﬂﬁ$w§‘cr?

(@) F: Hora- HFAT T 3ol |

@) 9g: fb Fuchted 2

(S) H-Td: g &: 2

(@) qGER Hera- b T |1q 2

(o1 der ag s & T 2

(@) F ufkasiH Hdaay ?



